





Article

Fully Degenerating of Daehee Numbers and Polynomials

Sahar Albosaily ¹, Waseem Ahmad Khan ², Serkan Araci ³ and Azhar Iqbal ^{2,*}

¹ Department of Mathematics, College of Science, University of Ha'il, Ha'il 2440, Saudi Arabia; s.albosaily@uoh.edu.sa

² Department of Mathematics and Natural Sciences, Prince Mohammad Bin Fahd University, P.O. Box 1664, Al Khobar 31952, Saudi Arabia; wkhan1@pmu.edu.sa

³ Department of Basic Sciences, Faculty of Engineering, Hasan Kalyoncu University, Gaziantep TR-27410, Turkey; serkan.araci@hku.edu.tr

* Correspondence: aiqbal@pmu.edu.sa

Abstract: In this paper, we consider fully degenerate Daehee numbers and polynomials by using degenerate logarithm function. We investigate some properties of these numbers and polynomials. We also introduce higher-order multiple fully degenerate Daehee polynomials and numbers which can be represented in terms of Riemann integrals on the interval $[0, 1]$. Finally, we derive their summation formulae.

Keywords: degenerate Daehee polynomials; multiple degenerate Daehee numbers; higher-order degenerate Daehee polynomials

MSC: 11B83; 11B73; 05A19



Citation: Albosaily, S.; Khan, W.A.; Araci, S.; Iqbal, A. Fully Degenerating of Daehee Numbers and Polynomials. *Mathematics* **2022**, *10*, 2528. <https://doi.org/10.3390/math10142528>

Academic Editor: Sitnik Sergey

Received: 4 June 2022

Accepted: 15 July 2022

Published: 20 July 2022

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<https://creativecommons.org/licenses/by/4.0/>).

1. Introduction

The generalizations of special polynomials have been one of the most emerging research fields in mathematical analysis and extensively investigated in order to find interesting identities and relations. Applications of the generalized special polynomials arise in problems of number theory, combinatorics, mathematical physics and other sub-areas of pure and applied mathematics provide motivation for introducing a new class of generalized polynomials. For example, some special polynomials occur in probability as the Edgeworth series; in combinatorics, they arise in the umbral calculus as an example of an Appell sequence which plays an important role in various problems connected with functional equations, interpolation problems, approximation theory, summation methods; in numerical analysis, they play a role in Gaussian quadrature; and in physics, they appear in quantum mechanical and optical beam transport problems. (see [1] for detail).

Recently, many mathematicians as the systematic study of degenerate versions of some special polynomials and numbers (see Kim-Kim [2–4], Kim et al. [5], Khan et al. [6–8], and Sharma et al. [9]) have been established due to Carlitz's degenerate version of Bernoulli polynomials given by (see [10,11])

$$\sum_{\ell=0}^{\infty} \beta_{\ell,\lambda}(\zeta) \frac{\omega^\ell}{\ell!} = \frac{\omega}{(1+\lambda\omega)^{\frac{1}{\lambda}} - 1} (1+\lambda\omega)^{\frac{\zeta}{\lambda}}, \quad (\lambda \in \mathbb{R} - \{0\}), \quad (1)$$

and the degenerate Bernoulli polynomials of higher order are also given by

$$\left(\frac{\omega}{(1+\lambda\omega)^{\frac{1}{\lambda}} - 1} \right)^r (1+\lambda\omega)^{\frac{\zeta}{\lambda}} = \sum_{\ell=0}^{\infty} \beta_{\ell,\lambda}^{(r)}(\zeta), \quad (2)$$

with the case

$$\lim_{\lambda \rightarrow 0} \beta_{j,\lambda}^{(r)}(\zeta) = B_j^{(r)}(\zeta) \quad (j \geq 0), \quad (3)$$

where $B_j^{(r)}(\zeta)$ are the Bernoulli polynomials of higher order.

For any $\lambda \in \mathbb{R} - \{0\}$, degenerate version of the exponential function $e_\lambda^\zeta(\omega)$ is defined as (see [2,3,6–8,10,11])

$$e_\lambda^\zeta(\omega) := (1 + \lambda\omega)^{\frac{\zeta}{\lambda}} = \sum_{\ell=0}^\infty (\zeta)_{\ell,\lambda} \frac{\omega^\ell}{\ell!}, \tag{4}$$

where $(\zeta)_{0,\lambda} = 1$ and $(\zeta)_{\ell,\lambda} = \zeta(\zeta - \lambda) \cdots (\zeta - (\ell - 1)\lambda)$ for $\ell \geq 1$, (see [2–7,10,12]). It is obvious that $\lim_{\lambda \rightarrow 0} e_\lambda^\zeta(\omega) = e^{\zeta\omega}$. Additionally, we note that $e_\lambda^1(\omega) := e_\lambda(\omega)$.

The generating functions of the degenerating Stirling numbers of the first and second kinds are defined by

$$\frac{1}{k!} (\log_\lambda(1 + \omega))^k = \sum_{j=k}^\infty S_{1,\lambda}(j, k) \frac{\omega^j}{j!} \quad \text{and} \quad \frac{1}{k!} (e_\lambda(\omega) - 1)^k = \sum_{j=k}^\infty S_{2,\lambda}(j, k) \frac{\omega^j}{j!} \tag{5}$$

where

$$\log_\lambda(1 + \omega) = \frac{(1 + \omega)^\lambda - 1}{\lambda}, \tag{6}$$

which is the inverse of degenerate exponential function (see [4,6]).

Roman [13] defined the Bernoulli polynomials of the second kind given by means of the following generating function:

$$\frac{\omega}{\log(1 + \omega)} (1 + \omega)^\zeta = \sum_{\ell=0}^\infty b_\ell(\zeta) \frac{\omega^\ell}{\ell!}. \tag{7}$$

From (3) and (7), we note that, see [8,14].

$$b_\ell(\zeta) = B_\ell^{(\ell)}(\zeta + 1), \quad (\ell \geq 0),$$

It is well known from [2] that

$$\left(\frac{\omega}{\log_\lambda(1 + \omega)} \right)^k (1 + \omega)^{\zeta-1} = \sum_{\ell=0}^\infty B_{\ell,\lambda}^{(\ell-k+1)}(\zeta) \frac{\omega^\ell}{\ell!}, \quad (k \in \mathbb{Z}). \tag{8}$$

where $B_{\ell,\lambda}^{(\alpha)}(\zeta)$ are called λ -analogue of Bernoulli polynomials of higher order given via the following generating function:

$$\left(\frac{\omega}{\lambda e^\omega - 1} \right)^\alpha e^{\zeta\omega} = \sum_{j=0}^\infty B_{j,\lambda}^{(\alpha)}(\zeta) \frac{\omega^j}{j!}.$$

In [2], the degenerate Bernoulli polynomials of the second kind are defined by

$$\frac{\omega}{\log_\lambda(1 + \omega)} (1 + \omega)^\zeta = \sum_{\ell=0}^\infty b_{\ell,\lambda}(\zeta) \frac{\omega^\ell}{\ell!}. \tag{9}$$

Note that

$$\lim_{\lambda \rightarrow 0} b_{\ell,\lambda}(\zeta) = b_\ell(\zeta), \quad (\ell \geq 0).$$

The Daehee polynomials are known as, (see [7–9]).

$$\frac{\log(1 + \omega)}{\omega} (1 + \omega)^\zeta = \sum_{j=0}^\infty D_j(\zeta) \frac{\omega^j}{j!}, \tag{10}$$

In the case when $\zeta = 0$, $D_j = D_j(0)$ are called the Daehee numbers. The Equation (10) will be our main focus to proceed its fully degenerate version with their identities and

properties with Section 2. In Section 3, we consider multiple fully degenerate Daehee polynomials of higher order which can be represented in terms of Riemann integrals on the interval $[0, 1]$. We derive their identities and properties among some other polynomials which will be mentioned in the next sections.

2. Fully Degenerating Daehee Numbers and Polynomials

Recall from Equation (6) that

$$\begin{aligned} \log_\lambda(1 + \omega) &= \frac{(1 + \omega)^\lambda - 1}{\lambda} \\ &= \sum_{j=1}^\infty \lambda^{j-1} (1)_{j,1/\lambda} \frac{\omega^j}{j!}, \end{aligned} \tag{11}$$

where

$$(1)_{j,1/\lambda} = \left(1 - \frac{1}{\lambda}\right) \left(1 - \frac{2}{\lambda}\right) \cdots \left(1 - (j-1)\frac{1}{\lambda}\right).$$

In the case λ approaches to 0, we see that the Equation (11) turns out to be classical one as follows:

$$\lim_{\lambda \rightarrow 0} \log_\lambda(1 + \omega) = \sum_{j=1}^\infty (-1)^{j-1} \frac{\omega^j}{j!} = \log(1 + \omega).$$

Note that $e_\lambda(\log_\lambda(\omega)) = \log_\lambda(e_\lambda(\omega)) = \omega$. By making use of Equation (11), Kim et al. [5] introduced the new type of degenerate Daehee polynomials as follows:

$$\sum_{\ell=0}^\infty D_{\ell,\lambda}(\zeta) \frac{\omega^\ell}{\ell!} = \frac{\log_\lambda(1 + \omega)}{\omega} (1 + \omega)^\zeta \tag{12}$$

$$= \frac{\log(1 + \omega)}{\omega} \int_0^1 (1 + \omega)^{\lambda\eta + \zeta} d\eta. \tag{13}$$

At the value $\zeta = 0$, $D_{j,\lambda} = D_{j,\lambda}(0)$ are called the degenerate Daehee numbers. Motivated by (12) and (13), we give the following definition.

Definition 1. Let $\lambda \in \mathbb{R} - \{0\}$. The fully degenerating Daehee polynomials are defined by means of the following generating function:

$$\sum_{j=0}^\infty \tilde{d}_{j,\lambda}(\zeta) \frac{\omega^j}{j!} = \frac{\log_\lambda(1 + \omega)}{\omega} e^{\zeta \log_\lambda(1 + \omega)}. \tag{14}$$

Then, from (13), we see that

$$\sum_{j=0}^\infty \tilde{d}_{j,\lambda}(\zeta) \frac{\omega^j}{j!} = \frac{\log(1 + \omega)}{\omega} \int_0^1 (1 + \omega)^{\lambda\eta} d\eta e^{\zeta \log_\lambda(1 + \omega)}. \tag{15}$$

Note that, $\lim_{\lambda \rightarrow 0} \tilde{d}_{j,\lambda}(\zeta) = \tilde{d}_j(\zeta)$, ($j \geq 0$). We note that $\zeta = 0, \tilde{d}_{j,\lambda} := \tilde{d}_{j,\lambda}(0)$ are called the new type of fully degenerate Daehee numbers. The following identity will be useful for proving next theorem already known in [2]:

$$e^{\zeta \log_\lambda(1 + \omega)} = \sum_{\ell=0}^\infty \left\{ \sum_{k=0}^\ell S_{1,\lambda}(\ell, k) \zeta^k \right\} \frac{\omega^\ell}{\ell!}. \tag{16}$$

Theorem 1. Let $j \geq 0$, the following identity holds true:

$$\tilde{d}_{j,\lambda}(\zeta) = \sum_{r=0}^j \sum_{k=0}^r \binom{j}{r} \tilde{d}_{j-r,\lambda} S_{1,\lambda}(r,k) \zeta^r.$$

Proof. It is proved by using (11) that

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}(\zeta) \frac{\omega^j}{j!} &= \frac{\log_{\lambda}(1 + \omega)}{\omega} e^{\zeta \log_{\lambda}(1 + \omega)} \\ &= \sum_{l=0}^{\infty} \tilde{d}_{l,\lambda} \frac{\omega^l}{l!} \sum_{r=0}^{\infty} \zeta^r \frac{(\log_{\lambda}(1 + \omega))^r}{r!} \\ &= \sum_{l=0}^{\infty} \tilde{d}_{l,\lambda} \frac{\omega^l}{l!} \sum_{r=0}^{\infty} \sum_{k=0}^r S_{1,\lambda}(r,k) \zeta^r \frac{\omega^r}{r!} \\ &= \sum_{j=0}^{\infty} \left(\sum_{r=0}^j \sum_{k=0}^r \binom{j}{r} \tilde{d}_{j-r,\lambda} S_{1,\lambda}(r,k) \zeta^r \right) \frac{\omega^j}{j!}. \end{aligned}$$

By comparing the coefficients of $\frac{\omega^j}{j!}$ on the above, we get the proof of this theorem. \square

Theorem 2. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}(\zeta) = \sum_{i=0}^j \frac{1}{j-i+1} \sum_{r=1}^{j-i+1} \sum_{k=0}^i \binom{j}{i} \lambda^{r-1} S_1(j-i+1,r) \zeta^k S_{1,\lambda}(i,k). \tag{17}$$

Proof. By using (11), we get

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}(\zeta) \frac{\omega^j}{j!} &= \frac{\log(1 + \omega)}{\omega} \int_0^1 (1 + \omega)^{\lambda \eta} d\eta e^{\zeta \log_{\lambda}(1 + \omega)} \\ &= \frac{\log(1 + \omega)}{\omega} \sum_{r=0}^{\infty} \lambda^r \frac{(\log(1 + \omega))^r}{(r + 1)!} \sum_{k=0}^{\infty} \zeta^k \frac{(\log_{\lambda}(1 + \omega))^k}{k!} \\ &= \frac{1}{\omega} \left(\sum_{r=1}^{\infty} \lambda^{r-1} \frac{(\log(1 + \omega))^r}{r!} \right) \left(\sum_{k=0}^{\infty} \zeta^k \frac{(\log_{\lambda}(1 + \omega))^k}{k!} \right) \\ &= \frac{1}{\omega} \left(\sum_{j=1}^{\infty} \sum_{r=1}^j \lambda^{r-1} S_1(j,r) \frac{\omega^j}{j!} \right) \left(\sum_{i=0}^{\infty} \sum_{k=0}^i \zeta^k S_{1,\lambda}(i,k) \frac{\omega^i}{i!} \right) \\ &= \left(\sum_{j=0}^{\infty} \frac{1}{j+1} \sum_{r=1}^{j+1} \lambda^{r-1} S_1(j+1,r) \frac{\omega^j}{j!} \right) \left(\sum_{i=0}^{\infty} \sum_{k=0}^i \zeta^k S_{1,\lambda}(i,k) \frac{\omega^i}{i!} \right) \\ &= \sum_{j=0}^{\infty} \left(\frac{1}{j-i+1} \sum_{i=0}^j \sum_{r=1}^{j-i+1} \sum_{k=0}^i \binom{j}{i} \lambda^{r-1} S_1(j-i+1,r) \zeta^k S_{1,\lambda}(i,k) \right) \frac{\omega^j}{j!} \end{aligned}$$

Thus, we get the result. \square

From (1), we note that

$$\left(\sum_{j=0}^{\infty} \beta_{j,\lambda} \frac{\omega^j}{j!} \right) \left(\sum_{r=0}^{\infty} \zeta^r \frac{\omega^r}{r!} \right) = \frac{\omega}{e_{\lambda}(\omega) - 1} e^{\zeta \omega} = \sum_{j=0}^{\infty} \left(\sum_{r=0}^j \binom{j}{r} \beta_{j-r,\lambda} \zeta^r \right) \frac{\omega^j}{j!} \tag{18}$$

Theorem 3. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}(\zeta) = \sum_{i=0}^j \sum_{r=0}^i \binom{i}{r} \beta_{i-r,\lambda} \zeta^r S_{1,\lambda}(j, i). \tag{19}$$

Proof. By replacing ω by $\log_\lambda(1 + \omega)$ in (18), we get

$$\begin{aligned} \frac{\log_\lambda(1 + \omega)}{\omega} e^{x \log_\lambda(1+\omega)} &= \sum_{i=0}^{\infty} \sum_{r=0}^i \binom{i}{r} \beta_{i-r,\lambda} \zeta^r \frac{(\log_\lambda(1 + \omega))^i}{i!} \\ &= \sum_{i=0}^{\infty} \sum_{r=0}^i \binom{i}{r} \beta_{i-r,\lambda} \zeta^r \sum_{j=i}^{\infty} S_{1,\lambda}(j, i) \frac{\omega^j}{j!} \\ &= \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \sum_{r=0}^i \binom{i}{r} \beta_{i-r,\lambda} \zeta^r S_{1,\lambda}(j, i) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{20}$$

On the other hand,

$$\frac{\log_\lambda(1 + \omega)}{\omega} e^{\zeta \log_\lambda(1+\omega)} = \sum_{r=0}^{\infty} \tilde{d}_{j,\lambda}(\zeta) \frac{\omega^j}{j!}. \tag{21}$$

Therefore, by (20) and (21), we obtain the required result. \square

Theorem 4. For $j \geq 0$, we have

$$\beta_{j,\lambda} = \sum_{r=0}^j \tilde{d}_{r,\lambda}(\zeta) S_{2,\lambda}(j, r).$$

Proof. By replacing ω by $e_\lambda(\omega) - 1$ in (11), we get

$$\begin{aligned} \frac{\omega}{e_\lambda(\omega) - 1} e^{\zeta \omega} &= \sum_{r=0}^{\infty} \tilde{d}_{r,\lambda}(\zeta) \frac{(e_\lambda(\omega) - 1)^r}{r!} \\ &= \sum_{j=0}^{\infty} \left(\sum_{r=0}^j \tilde{d}_{r,\lambda}(\zeta) S_{2,\lambda}(j, r) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{22}$$

By using (18) and (22), we conclude the proof. \square

Theorem 5. For $j \geq 0$, we have

$$\sum_{r=0}^j \binom{j}{r} b_{j-r} \tilde{d}_{r,\lambda}(\zeta) = \sum_{i=0}^j \binom{j}{i} \sum_{r=0}^{j-i} \sum_{k=0}^i \frac{\lambda^r}{r+1} \zeta^k S_{j-i,r} S_{1,\lambda}(i, k).$$

Proof. By using (11), we note that

$$\begin{aligned} \int_0^1 (1 + \omega)^{\lambda \eta} d\eta e^{\zeta \log_\lambda(1+\omega)} &= \frac{\omega}{\log(1 + \omega)} \frac{\log_\lambda(1 + \omega)}{\omega} e^{\zeta \log_\lambda(1+\omega)} \\ &= \left(\sum_{j=0}^{\infty} b_j \frac{\omega^j}{j!} \right) \left(\sum_{r=0}^{\infty} \tilde{d}_{r,\lambda}(\zeta) \frac{\omega^r}{r!} \right) \\ &= \sum_{j=0}^{\infty} \left(\sum_{r=0}^j \binom{j}{r} b_{j-r} \tilde{d}_{r,\lambda}(\zeta) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{23}$$

On the other hand, we have

$$\begin{aligned}
 \int_0^1 (1 + \omega)^{\lambda \eta} d\eta e^{\zeta \log_\lambda(1+\omega)} &= \sum_{r=0}^{\infty} \frac{\lambda^r (\log(1 + \omega))^r}{(r + 1)!} \sum_{k=0}^{\infty} \zeta^k \frac{(\log_\lambda(1 + \omega))^k}{k!} \\
 &= \sum_{r=0}^{\infty} \frac{\lambda^r}{r + 1} \sum_{j=r}^{\infty} S_1(j, r) \frac{\omega^j}{j!} \sum_{k=0}^{\infty} \zeta^k \sum_{i=k}^{\infty} S_{1,\lambda}(i, k) \frac{\omega^i}{i!} \\
 &= \sum_{j=0}^{\infty} \frac{\lambda^r}{r + 1} \sum_{r=0}^j S_1(j, r) \frac{\omega^j}{j!} \sum_{i=0}^{\infty} \zeta^k \sum_{k=0}^i S_{1,\lambda}(i, k) \frac{\omega^i}{i!} \\
 &= \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \binom{j}{i} \sum_{r=0}^{j-i} \sum_{k=0}^i \frac{\lambda^r}{r + 1} \sigma^k S_{j-i,r} S_{1,\lambda}(i, k) \right) \frac{\omega^j}{j!}. \tag{24}
 \end{aligned}$$

Thus, by (23) and (24), we arrive at the required the proof. \square

3. New Type of Higher-Order Fully Degenerating Daehee Numbers and Polynomials

Let us define the new type of fully degenerate Daehee polynomials of order $r \in \mathbb{N}$ by the following multiple Riemann integral on the interval $\underbrace{[0, 1] \times [0, 1] \times \dots \times [0, 1]}_{k\text{-times}}$:

$$\begin{aligned}
 \left(\frac{\log(1 + \omega)}{\omega} \right)^r \int_0^1 \dots \int_0^1 (1 + \omega)^{\lambda(\zeta_1 + \dots + \zeta_r)} d\zeta_1 \dots d\zeta_r e^{\zeta \log_\lambda(1+\omega)} \tag{25} \\
 = \left(\frac{\log_\lambda(1 + \omega)}{\omega} \right)^r e^{\zeta \log_\lambda(1+\omega)} = \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!}
 \end{aligned}$$

In the case when $\zeta = 0, \tilde{d}_{j,\lambda}^{(r)} = \tilde{d}_{j,\lambda}^{(r)}(0)$ are called the new type of fully degenerate Daehee numbers of the order r .

Theorem 6. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}^{(r)}(\zeta) = \sum_{k=0}^j \binom{j}{k} \sum_{i=0}^k \tilde{d}_{j-k,\lambda}^{(r)} \zeta^i S_{1,\lambda}(k, i).$$

Proof. From (25), we note that

$$\begin{aligned}
 &\left(\frac{\log_\lambda(1 + \omega)}{\omega} \right)^r e^{\zeta \log_\lambda(1+\omega)} \\
 &= \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)} \frac{\omega^j}{j!} \sum_{i=0}^{\infty} \frac{1}{i!} \zeta^i (\log_\lambda(1 + \omega))^i = \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)} \frac{\omega^j}{j!} \sum_{i=0}^{\infty} \zeta^i \sum_{k=i}^{\infty} S_{1,\lambda}(k, i) \frac{\omega^k}{k!} \\
 &= \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)} \frac{\omega^j}{j!} \sum_{k=0}^{\infty} \zeta^i \sum_{i=0}^k S_{1,\lambda}(k, i) \frac{\omega^k}{k!} \\
 &= \sum_{j=0}^{\infty} \left(\sum_{k=0}^j \binom{j}{k} \sum_{i=0}^k \zeta^i S_{1,\lambda}(k, i) \tilde{d}_{j-k,\lambda}^{(r)} S_{1,\lambda}(j, i) \right) \frac{\omega^j}{j!}.
 \end{aligned}$$

Thus, by comparing the coefficients of $\frac{\omega^j}{j!}$ on the above, we obtain the result. \square

Theorem 7. For $n \geq 0$, we have

$$\tilde{d}_{j,\lambda}^{(r)}(\zeta) = \sum_{i=0}^j \sum_{k=0}^{j-i} \binom{j}{i} \frac{S_{1,\lambda}(i+r,r)}{\binom{i+r}{i}} \zeta^k S_{1,\lambda}(j-i,k).$$

Proof. Using (25), we have

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} &= \frac{r!}{\omega^r} \frac{1}{r!} (\log_{\lambda}(1+\omega))^r e^{\zeta \log_{\lambda}(1+\omega)} \\ &= \frac{r!}{\omega^r} \left(\sum_{i=r}^{\infty} S_{1,\lambda}(i,r) \frac{\omega^i}{i!} \right) \left(\sum_{k=0}^{\infty} \zeta^k \frac{(\log_{\lambda}(1+\omega))^k}{k!} \right) \\ &= \left(\sum_{i=0}^{\infty} \frac{S_{1,\lambda}(i+r,r)}{\binom{i+r}{i}} \frac{\omega^i}{i!} \right) \left(\sum_{j=0}^{\infty} \sum_{k=0}^j \zeta^k S_{1,\lambda}(j,k) \frac{\omega^j}{j!} \right) \\ &= \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \sum_{k=0}^{j-i} \binom{j}{i} \frac{S_{1,\lambda}(i+r,r)}{\binom{i+r}{i}} \zeta^k S_{1,\lambda}(j-i,k) \right) \frac{\omega^j}{j!}. \end{aligned}$$

Therefore, by comparing the coefficients of $\frac{\omega^j}{j!}$ on the above, we arrive at the desired result. \square

Theorem 8. For $j \geq 0$, we have

$$\sum_{i=0}^j \binom{j}{i} \beta_{j-i,\lambda} \zeta^i = \sum_{\ell=0}^j \tilde{d}_{\ell,\lambda}^{(r)}(\zeta) S_{2,\lambda}(j,\ell).$$

Proof. By replacing ω by $e_{\lambda}(\omega) - 1$ in (25), we get

$$\begin{aligned} \sum_{i=0}^{\infty} \tilde{d}_{i,\lambda}^{(r)}(\zeta) \frac{(e_{\lambda}(\omega) - 1)^i}{i!} &= \left(\frac{\omega}{e_{\lambda}(\omega) - 1} \right)^r e^{\zeta \omega} \\ &= \sum_{j=0}^{\infty} \beta_{j,\lambda} \frac{\omega^j}{j!} \sum_{i=0}^{\infty} \zeta^i \frac{\omega^i}{i!} \\ &= \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \binom{j}{i} \beta_{j-i,\lambda} \zeta^i \right) \frac{\omega^j}{j!}. \end{aligned} \tag{26}$$

On the other hand, we have

$$\begin{aligned} \sum_{i=0}^{\infty} \tilde{d}_{i,\lambda}^{(r)}(\zeta) \frac{[e_{\lambda}(\omega) - 1]^i}{i!} &= \sum_{i=0}^{\infty} \tilde{d}_{i,\lambda}^{(r)}(\zeta) \sum_{j=i}^{\infty} S_{2,\lambda}(j,i) \frac{\omega^j}{j!} \\ &= \sum_{j=0}^{\infty} \left(\sum_{\ell=0}^j \tilde{d}_{\ell,\lambda}^{(r)}(\zeta) S_{2,\lambda}(j,\ell) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{27}$$

By (26) and (27), we complete the proof. \square

From (2), we get

$$\left(\frac{\omega}{e_{\lambda}(\omega) - 1} \right)^r e^{\zeta \omega} = \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \binom{j}{i} \beta_{j-i,\lambda} \zeta^i \right) \frac{\omega^j}{j!} \tag{28}$$

Theorem 9. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}^{(r)}(\zeta) = \sum_{p=0}^j \sum_{q=0}^p \binom{p}{q} \beta_{p-q,\lambda} \zeta^q S_{1,\lambda}(j, p).$$

Proof. By changing t to $\log_\lambda(1 + t)$ in (28), we get

$$\begin{aligned} \left(\frac{\log_\lambda(1 + \omega)}{\omega}\right)^r e^{\zeta \log_\lambda(1 + \omega)} &= \sum_{p=0}^\infty \sum_{q=0}^p \binom{p}{q} \beta_{p-q,\lambda} \zeta^q \frac{[\log_\lambda(1 + \omega)]^p}{p!} \\ &= \sum_{p=0}^\infty \sum_{q=0}^p \binom{p}{q} \beta_{p-q,\lambda} \zeta^q \sum_{j=p}^\infty S_{1,\lambda}(j, p) \frac{\omega^j}{j!} \\ &= \sum_{j=0}^\infty \left(\sum_{p=0}^j \sum_{q=0}^p \binom{p}{q} \beta_{p-q,\lambda} \zeta^q S_{1,\lambda}(j, p) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{29}$$

In view of (25) and (29), we get the result. \square

Theorem 10. For $j \geq 0$, we have

$$\begin{aligned} &\sum_{k=0}^j \binom{j}{k} B_k^{(k-r+1)} \tilde{d}_{j-k,\lambda}^{(r)}(\zeta) \\ &= \sum_{i=0}^j \binom{j}{i} \sum_{p=0}^i \lambda^p \sum_{q_1 + \dots + q_r = p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1 + 1) \dots (q_r + 1)} S_1(i, p) \\ &\quad \times \sum_{k=0}^{j-i} \zeta^k S_{1,\lambda}(j - i, k). \end{aligned}$$

Proof. From (25), we see that

$$\begin{aligned} &\int_0^1 \dots \int_0^1 (1 + \omega)^{\lambda(\zeta_1 + \dots + \zeta_r)} d\zeta_1 \dots d\zeta_r e^{\zeta \log_\lambda(1 + \omega)} \\ &= \left(\frac{\omega}{\log(1 + \omega)}\right)^r \left(\frac{\log_\lambda(1 + \omega)}{\omega}\right)^r e^{\zeta \log_\lambda(1 + \omega)} = \sum_{k=0}^\infty B_k^{(k-r+1)} \frac{\omega^k}{k!} \sum_{j=0}^\infty \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} \\ &= \sum_{j=0}^\infty \left(\sum_{k=0}^j \binom{j}{k} B_k^{(k-r+1)} \tilde{d}_{j-k,\lambda}^{(r)}(\zeta) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{30}$$

On the other hand, we have

$$\begin{aligned} &\int_0^1 \dots \int_0^1 (1 + \omega)^{\lambda(\zeta_1 + \dots + \zeta_r)} d\zeta_1 \dots d\zeta_r e^{\zeta \log_\lambda(1 + \omega)} \\ &= \sum_{p=0}^\infty \lambda^p \frac{(\log(1 + \omega))^p}{p!} \int_0^1 \dots \int_0^1 (\zeta_1 + \dots + \zeta_r)^p d\zeta_1 \dots d\zeta_r \sum_{k=0}^\infty \zeta^k \frac{(\log_\lambda(1 + \omega))^k}{k!} \\ &= \sum_{p=0}^\infty \lambda^p \sum_{q_1 + \dots + q_r = p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1 + 1) \dots (q_r + 1)} \frac{(\log(1 + \omega))^p}{p!} \\ &\quad \times \sum_{k=0}^\infty \zeta^k \frac{[\log_\lambda(1 + \omega)]^k}{k!} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{p=0}^{\infty} \lambda^p \sum_{q_1+\dots+q_r=p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1+1)\dots(q_r+1)} \sum_{i=p}^{\infty} S_1(i, p) \frac{\omega^i}{i!} \\
 &\quad \times \sum_{j=0}^{\infty} \sum_{k=0}^j \zeta^k S_{1,\lambda}(j, k) \frac{\omega^j}{j!} \\
 &= \sum_{i=0}^{\infty} \sum_{p=0}^i \lambda^p \sum_{q_1+\dots+q_r=p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1+1)\dots(q_r+1)} \sum_{p=0}^i S_1(i, p) \frac{\zeta^i}{i!} \\
 &\quad \times \sum_{j=0}^{\infty} \sum_{k=0}^j \zeta^k S_{1,\lambda}(j, k) \frac{\omega^j}{j!} \\
 &= \sum_{j=0}^{\infty} \sum_{i=0}^j \binom{j}{i} \sum_{p=0}^i \lambda^p \sum_{q_1+\dots+q_r=p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1+1)\dots(q_r+1)} S_1(i, p) \\
 &\quad \times \sum_{k=0}^{j-i} \zeta^k S_{1,\lambda}(j-i, k) \frac{\omega^j}{j!}. \tag{31}
 \end{aligned}$$

Therefore, by (30) and (31), we get the result. \square

Theorem 11. *The following relationship holds true*

$$\begin{aligned}
 &\sum_{p=0}^j \sum_{k=0}^{j-p} \binom{j}{p} S_{1,\lambda}(q, k) \zeta^k \int_0^1 (\lambda(\zeta_1 + \dots + \zeta_r))_p d\zeta_1 \dots d\zeta_r \\
 &= \sum_{k=0}^j \binom{j}{k} B_k^{(k-r+1)} \tilde{d}_{j-k,\lambda}^{(r)}(\zeta).
 \end{aligned}$$

Proof. From (25), we see that

$$\begin{aligned}
 &\int_0^1 \dots \int_0^1 (1 + \omega)^{\lambda(\zeta_1 + \dots + \zeta_r)} d\zeta_1 \dots d\zeta_r e^{\zeta \log_{\lambda}(1+\omega)} \\
 &= \left(\frac{\omega}{\log(1 + \omega)} \right)^r \left(\frac{\log_{\lambda}(1 + \omega)}{\omega} \right)^r e^{\zeta \log_{\lambda}(1+\omega)} = \sum_{k=0}^{\infty} B_k^{(k-r+1)} \frac{\omega^k}{k!} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} \\
 &= \sum_{j=0}^{\infty} \left(\sum_{k=0}^j \binom{j}{k} B_k^{(k-r+1)} \tilde{d}_{j-k,\lambda}^{(r)}(\zeta) \right) \frac{\omega^j}{j!}. \tag{32}
 \end{aligned}$$

On the other hand, we have

$$\begin{aligned}
 &\int_0^1 \dots \int_0^1 (1 + \omega)^{\lambda(\zeta_1 + \dots + \zeta_r)} d\zeta_1 \dots d\zeta_r e^{\zeta \log_{\lambda}(1+\omega)} \\
 &= \sum_{p=0}^{\infty} \int_0^1 \dots \int_0^1 (\lambda(\zeta_1 + \dots + \zeta_r))_p d\zeta_1 \dots d\zeta_r \frac{\omega^p}{p!} \sum_{q=0}^{\infty} \sum_{k=0}^q S_{1,\lambda}(q, k) \zeta^k \frac{\omega^q}{q!} \\
 &= \sum_{j=0}^{\infty} \sum_{p=0}^j \sum_{k=0}^{j-p} \binom{j}{p} S_{1,\lambda}(q, k) \zeta^k \int_0^1 (\lambda(\zeta_1 + \dots + \zeta_r))_p d\zeta_1 \dots d\zeta_r \frac{\omega^j}{j!}. \tag{33}
 \end{aligned}$$

Thus, by (32) and (33), we complete the proof. \square

Theorem 12. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}^{(r)}(\zeta) = \sum_{k=0}^j \binom{j}{k} \sum_{p=0}^{j-k} \sum_{q_1+\dots+q_r=k} \binom{k}{q_1, \dots, q_r} \tilde{d}_{q_1,\lambda}^{(r)} \cdots \tilde{d}_{q_r,\lambda}^{(r)} \zeta^p S_{1,\lambda}(j-k, p).$$

Proof. From (25), we note that

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} &= \left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right)^r e^{\zeta \log_{\lambda}(1+\omega)} \\ &= \underbrace{\left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right) \times \dots \times \left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right)}_{r\text{-times}} e^{\zeta \log_{\lambda}(1+\omega)} \\ &= \left(\sum_{k=0}^{\infty} \sum_{q_1+\dots+q_r=k} \binom{k}{q_1, \dots, q_r} \tilde{d}_{q_1,\lambda}^{(r)} \cdots \tilde{d}_{q_r,\lambda}^{(r)} \frac{\omega^k}{k!} \right) \\ &\quad \times \left(\sum_{j=0}^{\infty} \sum_{p=0}^j \zeta^p S_{1,\lambda}(j, p) \frac{\omega^j}{j!} \right) \\ &= \sum_{j=0}^{\infty} \left(\sum_{k=0}^j \binom{j}{k} \sum_{p=0}^{j-k} \sum_{q_1+\dots+q_r=k} \binom{k}{q_1, \dots, q_r} \tilde{d}_{q_1,\lambda}^{(r)} \cdots \tilde{d}_{q_r,\lambda}^{(r)} \zeta^p S_{1,\lambda}(j-k, p) \right) \frac{\omega^j}{j!}. \end{aligned} \tag{34}$$

In view of (34), we complete the proof. \square

Theorem 13. For $n \geq 0$, we have

$$\begin{aligned} \tilde{d}_{j,\lambda}^{(r)}(\zeta) &= \sum_{i=0}^j \binom{j}{i} \sum_{p=0}^i \lambda^p \sum_{q_1+\dots+q_r=p} \frac{\binom{i}{q_1, \dots, q_r}}{(q_1+1) \cdots (q_r+1)} S_1(i+r, p+r) \frac{\binom{p+r}{r}}{\binom{i+r}{r}} \\ &\quad \times \sum_{k=0}^{j-i} \zeta^k S_{1,\lambda}(j-i, k). \end{aligned}$$

Proof. By (25), we note that

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} &= \left(\frac{\log(1+\omega)}{\omega} \right)^r \int_0^1 \cdots \int_0^1 (1+\omega)^{\lambda(\zeta_1+\dots+\zeta_r)} d\zeta_1 \cdots d\zeta_r e^{\zeta \log_{\lambda}(1+\omega)} \\ &= \left(\frac{\log(1+\omega)}{\omega} \right)^r \sum_{p=0}^{\infty} \lambda^p \frac{(\log(1+\omega))^p}{p!} \int_0^1 \cdots \int_0^1 (\zeta_1 + \dots + \zeta_r)^p d\zeta_1 \cdots d\zeta_r \sum_{k=0}^{\infty} \zeta^k \frac{[\log_{\lambda}(1+\omega)]^k}{k!} \\ &= \frac{1}{\omega^r} \sum_{p=0}^{\infty} \lambda^p \sum_{q_1+\dots+q_r=p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1+1) \cdots (q_r+1)} \frac{(\log(1+\omega))^{p+r}}{m!} \\ &\quad \times \sum_{k=0}^{\infty} \zeta^k \frac{[\log_{\lambda}(1+\omega)]^k}{k!} \\ &= \frac{1}{\omega^r} \sum_{p=0}^{\infty} \lambda^p \sum_{q_1+\dots+q_r=p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1+1) \cdots (q_r+1)} \frac{(p+r)!}{p!} \sum_{i=p+r}^{\infty} S_1(i, p+r) \frac{\omega^i}{i!} \\ &\quad \times \sum_{j=0}^{\infty} \sum_{k=0}^j \zeta^k S_{1,\lambda}(j, k) \frac{\omega^j}{j!} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{p=0}^{\infty} \sum_{q_1+\dots+q_r=p} \binom{p}{q_1, \dots, q_r} \frac{1}{(q_1+1)\dots(q_r+1)} \frac{(p+r)!}{m!} \sum_{i=p}^{\infty} S_1(i+r, p+r) \frac{\omega^i}{(i+r)!} \\
 &\quad \times \sum_{j=0}^{\infty} \sum_{k=0}^j \zeta^k S_{1,\lambda}(j, k) \frac{\omega^j}{j!} \\
 &= \sum_{i=0}^{\infty} \sum_{p=0}^i \lambda^p \sum_{q_1+\dots+q_r=p} \frac{\binom{i}{q_1, \dots, q_r}}{(q_1+1)\dots(q_r+1)} S_1(i+r, p+r) \frac{\binom{p+r}{r} \omega^i}{\binom{i+r}{r} i!} \\
 &\quad \times \sum_{j=0}^{\infty} \sum_{k=0}^j \zeta^k S_{1,\lambda}(j, k) \frac{\omega^j}{j!} \\
 &= \sum_{j=0}^{\infty} \sum_{i=0}^j \binom{j}{i} \sum_{p=0}^i \lambda^p \sum_{q_1+\dots+q_r=p} \frac{\binom{i}{q_1, \dots, q_r}}{(q_1+1)\dots(q_r+1)} S_1(i+r, p+r) \frac{\binom{p+r}{r} \omega^i}{\binom{i+r}{r} i!} \\
 &\quad \times \sum_{k=0}^{j-i} \zeta^k S_{1,\lambda}(j-i, k) \frac{\omega^j}{j!}.
 \end{aligned} \tag{35}$$

Thus we get what we want. \square

Theorem 14. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}^{(-r)}(\zeta) = \sum_{i=0}^j \sum_{k=0}^i \binom{j}{i} d_{j-i,\lambda}^{(r)} \zeta^k S_{1,\lambda}(i, k).$$

Proof. From 25, we note that

$$\begin{aligned}
 \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(-r)}(\zeta) \frac{\omega^j}{j!} &= \left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right)^r e^{\zeta \log_{\lambda}(1+\omega)} \\
 &= \left(\sum_{j=0}^{\infty} d_{j,\lambda}^{(r)} \frac{\omega^j}{j!} \right) \left(\sum_{i=0}^{\infty} \sum_{k=0}^i \zeta^k S_{1,\lambda}(i, k) \frac{\omega^i}{i!} \right) \\
 &= \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \sum_{k=0}^i \binom{j}{i} d_{j-i,\lambda}^{(r)} \zeta^k S_{1,\lambda}(i, k) \right) \frac{\omega^j}{j!}.
 \end{aligned} \tag{36}$$

Therefore, by (25) and (36), we complete the proof. \square

Theorem 15. For $r, k \in \mathbb{N}$, with $r > k$, we have

$$\tilde{d}_{j,\lambda}^{(r)}(\zeta) = \sum_{i=0}^j \binom{j}{i} \tilde{d}_{i,\lambda}^{(r-k)} \tilde{d}_{j-i,\lambda}^{(k)}(\zeta), (j \geq 0).$$

Proof. Since

$$\sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} = \left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right)^r e^{\zeta \log_{\lambda}(1+\omega)},$$

we have

$$\begin{aligned}
 &= \left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right)^{r-k} \left(\frac{\log_{\lambda}(1+\omega)}{\omega} \right)^k e^{\zeta \log_{\lambda}(1+\omega)} \\
 &= \left(\sum_{i=0}^{\infty} \tilde{d}_{i,\lambda}^{(r-k)} \frac{\omega^i}{i!} \right) \left(\sum_{p=0}^{\infty} \tilde{d}_{p,\lambda}^{(k)}(x) \frac{\omega^p}{p!} \right)
 \end{aligned}$$

$$= \sum_{j=0}^{\infty} \left(\sum_{i=0}^j \binom{j}{i} \tilde{d}_{i,\lambda}^{(r-k)} \tilde{d}_{j-i,\lambda}^{(k)}(\zeta) \right) \frac{\omega^j}{j!}. \tag{37}$$

Therefore, by (25) and (37), we obtain the result. \square

Theorem 16. For $j \geq 0$, we have

$$\tilde{d}_{j,\lambda}^{(r)}(\zeta + \eta) = \sum_{k=0}^j \sum_{p=0}^k \binom{j}{k} \tilde{d}_{j-k,\lambda}^{(r)}(\zeta) S_{1,\lambda}(k, p) \eta^p.$$

Proof. Now, we observe that

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta + \eta) \frac{\omega^j}{j!} &= \left(\frac{\log_{\lambda}(1 + \omega)}{\omega} \right)^r e^{(\zeta + \eta) \log_{\lambda}(1 + \omega)} \\ &= \left(\sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} \right) \left(\sum_{k=0}^{\infty} \left(\sum_{p=0}^k S_{1,\lambda}(k, p) \eta^p \right) \frac{t^k}{k!} \right) \\ &= \sum_{j=0}^{\infty} \left(\sum_{k=0}^j \sum_{p=0}^k \binom{j}{k} \tilde{d}_{j-k,\lambda}^{(r)}(\zeta) S_{1,\lambda}(k, p) \eta^p \right) \frac{\omega^j}{j!}. \end{aligned}$$

Equating the coefficients of $\frac{\omega^j}{j!}$ on both sides of the above, we get the result. \square

4. Conclusions and Observation

Motivated by [2], we have defined fully degenerating Daehee polynomials, which turn out to be classical ones in the special cases, as follows:

$$\sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}(\zeta) \frac{\omega^j}{j!} = \frac{\log(1 + \omega)}{\omega} \int_0^1 (1 + \omega)^{\lambda \eta} d\eta e^{\zeta \log_{\lambda}(1 + \omega)}.$$

By making use of this generating function, we derived some new explicit expressions and identities. Later, we have considered multiple point of view this generating function as follows:

$$\begin{aligned} \sum_{j=0}^{\infty} \tilde{d}_{j,\lambda}^{(r)}(\zeta) \frac{\omega^j}{j!} &= \left(\frac{\log(1 + \omega)}{\omega} \right)^r \int_0^1 \dots \int_0^1 (1 + \omega)^{\lambda(\zeta_1 + \dots + \zeta_r)} d\zeta_1 \dots d\zeta_r e^{\zeta \log_{\lambda}(1 + \omega)} \\ &= \left(\frac{\log_{\lambda}(1 + \omega)}{\omega} \right)^r e^{\zeta \log_{\lambda}(1 + \omega)}, \end{aligned}$$

by virtue of which we obtained some new identities, equalities and properties. Seemingly, the new generalizations, methods and applications for special polynomials involve some known special polynomials, such as Bernoulli polynomials, Euler polynomials, Genocchi polynomials, Frobenius–Euler polynomials, Daehee polynomials, and Changee polynomials, and these will be continued because they have interesting relations in mathematical physics and statistics.

Author Contributions: Conceptualization, S.A. (Sahar Albosaily), W.A.K., S.A. (Serkan Araci) and A.I.; Formal analysis, S.A. (Sahar Albosaily), W.A.K., S.A. (Serkan Araci) and A.I.; Investigation, S.A. (Sahar Albosaily), W.A.K., S.A. (Serkan Araci) and A.I.; Methodology, W.A.K.; Validation, S.A. (Sahar Albosaily) and W.A.K.; Writing—original draft, W.A.K.; Writing—review & editing, S.A. (Sahar Albosaily), S.A. (Serkan Araci) and A.I. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: Not applicable.

Conflicts of Interest: The authors declare no conflict of interest.

References

1. Sharma, S.K.; Khan, W.A.; Araci, S.; Ahmed, S.S. New construction of type 2 degenerate central Fubini polynomials with their certain properties. *Adv. Differ Equ.* **2020**, *587*, 1–11. [[CrossRef](#)]
2. Jang, L.C.; Kim, D.S.; Kim, T.; Lee, H. p -Adic integral on \mathbb{Z}_p associated with degenerate Bernoulli polynomials of the second kind. *Adv. Diff. Equ.* **2020**, *278*, 1–20.
3. Kim, T. On degenerate Cauchy numbers and polynomials. *Proc. Jangjeon Math. Soc.* **2015**, *18*, 307–312.
4. Kim, T. A note on degenerate Stirling numbers of the second kind. *Proc. Jangjeon Math. Soc.* **2017**, *20*, 319–331.
5. Kim, T.; Kim, D.S.; Kim, H.-Y.; Kwon, J. Some results on degenerate Daehee and Bernoulli numbers and polynomials. *Adv. Diff. Equ.* **2020**, *311*, 1–13. [[CrossRef](#)]
6. Khan, W.A.; Ahmad, M. Partially degenerate poly-Bernoulli polynomials associated with Hermite polynomials. *Adv. Stud. Contemp. Math.* **2018**, *28*, 487–496.
7. Khan, W.A.; Nisar, K.S.; Acikgoz, M.; Duran, U. Multifarious implicit summation formulae of Hermite-based poly-Daehee polynomials. *Appl. Math. Inf. Sci.* **2018**, *12*, 305–310. [[CrossRef](#)]
8. Khan, W.A. A note on q -analogue of degenerate Catalan numbers associated with p -adic Integral on \mathbb{Z}_p . *Symmetry* **2022**, *14*, 1119. [[CrossRef](#)]
9. Sharma, S.K.; Khan, W.A.; Araci, S.; Ahmed, S.S. New type of degenerate Daehee polynomials of the second kind. *Adv. Differ. Equ.* **2020**, *428*, 1–14. [[CrossRef](#)]
10. Catlitz, L. Degenerate Stirling, Bernoulli and Eulerian numbers. *Util. Math.* **1979**, *15*, 51–88.
11. Catlitz, L. A degenerate Staudt-Clausen theorem. *Arch. Math.* **1967**, *7*, 28–33. [[CrossRef](#)]
12. Kim, D.S.; Kim, T. A note on new type of degenerate Bernoulli numbers. *Russ. J. Math. Phys.* **2020**, *27*, 227–235. [[CrossRef](#)]
13. Roman, S. The umbral calculus. In *Pure and Applied Mathematics*, 111; Academic Press, Inc.: New York, NY, USA, 1984; p. x+193, ISBN 0-12-594380-6.
14. Alam, N.; Khan, W.A.; Ryoo, C.S. A note on Bell-based Apostol-type Frobenius-Euler polynomials of complex variable with its certain applications. *Mathematics* **2022**, *10*, 2109. [[CrossRef](#)]